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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

145

BC-02 / 700 / 4 	 (1)	 (P.T.O.)



145

BC-02 / 700 / 4 	 (2)	 (Contd.)

1)	 (i)	 Define Statistics.

		  gm§p»¶H$s H$m AW© ~VbmBE&

	 (ii)	 What is mean?

		  ‘mÜ¶ ³¶m h¡?

	 (iii)	 What do you mean by Quartiles?

		  MVwW©H$m| go Amn ³¶m g‘PVo h¡?

	 (iv)	 Explain standard deviation.

		  à‘mn {dMbZ g‘PmBE&

	 (v)	 What is Index?

		  gyMH$m§H$ ³¶m h¡?

	 (vi)	 What do you mean by correlation?

		  ghgå~ÝY go Amn ³¶m g‘PVo h¡?

	 (vii)	What is joint events probability?

		  g§¶w³V KQ>ZmAm| dmbr àm{¶H$Vm ³¶m h¡?

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&
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2)	 Explain four functions of statistics giving with examples.

	 gm§p»¶H$s Ho$ {H$Ýht Mma H$m¶m] H$mo CXmhaU g{hV g‘PmBE&

3)	 Enumerate the objects of sampling.

	 à{VM¶Z Ho$ CÔoí¶m| H$mo g‘PmBE&

4)	 From the following data, calculate arithmetic mean.

	 {ZåZ Am§H$‹S>m| go g‘mZmÝVa ‘mÜ¶ kmV H$s{OE&
	 10, 15, 30, 25, 5, 8, 9, 12, 19, 22

5)	 Explain the difference between skewness and dispersion.

	 {df‘Vm Ed§ An{H$aU ‘| AÝVa g‘PmBE&

6)	 What is chain base index number? Explain with example.

	 l¥§Ibm gyMH$m§H$ {H$go H$hVo h¡? CXmhaU g{hV g‘PmBE&

7)	 Calculate co-relation from the following:

	 {ZåZ go ghgå~ÝY kmV H$s{OE&
	 N = 8,  ∑d2x = 36,  ∑d2y = 44,  ∑dxdy = 24.

8)	 Write the names of components of time series.

	 H$mbloUr Ho$ g§KQ>H$m| H$m Zm‘ {b{IE&

9)	 Fishers index formula is ideal. Why?

	 {’$ea H$m gyMH$m§H$ gyÌ AmXe© ‘mZm OmVm h¡& ³¶m|?
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	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 What is statistical sampling? Describe the various methods of 
statistical sampling.

	 gm§p»¶H$s¶ à{VM¶Z ³¶m h¡? gm§p»¶H$s¶ à{VM¶Z H$s {d{^ÝZ ar{V¶m| 
H$m {ddaU Xr{OE&

11)	 Define “Tabulation”. What are its objects?

	 gmaUr¶Z H$s n[a^mfm Xr{OE& BgHo$ CÔoí¶ ³¶m h¡?

12)	 From the following data, calculate median, quartile first and 
quartile third.

	 {ZåZ{b{IV gmaUr go ‘Ü¶H$m, àW‘ Ed§ V¥Vr¶ MVwW©H$m| H$s JUZm 
H$s{OE&
Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70
No. of Students 10 20 25 15 10 18 02

13)	 Calculate the co-efficient of correlation from the following data.

	 {ZåZ g‘§H$m| Ho$ ‘Ü¶ ghgå~ÝY H$m JwUm§H$ kmV H$s{OE&

x 20 30 28 17 19 23 35 13 16 18
y 18 35 20 18 25 28 33 18 20 40


